2010.01-.PL

8. HERMES

M4x5

Instrukcja montazu
MHCTpyKUMS MOHTaxa
Assembly guide

grubos¢ drzwi - 25-50 mm
ciezar drzwi - do 60 kg

M3x8

VAICOMP,

www.valcomp.pl
tel. 22 818 77 22

7 mm

14 mm



M5x16

12 cm

M5x12

ww 0¢+H

0

[E iy

1d-TO-01TO0E2



2010.01.PL

E®3,5x16




